
[image: image1.jpg]) SIC PERMANET

| _rocus | 4
Ontario

VT INCEPIT

2\




ONTARIO

ENERGY

BOARD

	FILE NO.:
	EB‑2008-0101


	

	VOLUME:

DATE:


	Technical Conference

May 25, 2009


	


EB-2009-0101

THE ONTARIO ENERGY BOARD

IN THE MATTER OF the Ontario Energy Board Act, 1998, S.O. 1998, c.15 (Sched. B);

AND IN THE MATTER OF an Application by Union Gas Ltd. for an order or orders amending or varying the rate or rates charged to customers as of July 1, 2009 in connection with the sharing of 2008 earnings under the incentive rate mechanism approved by the Ontario Energy Board on January 17, 2008.
Hearing held at 2300 Yonge Street,

25th Floor, Toronto, Ontario,

on Monday, May 25th, 2009,

commencing at 9:28 a.m.
--------------------

TECHNICAL CONFERENCE

--------------------

DONNA CAMPBELL
Board Staff

VINCE COONEY 
Board Staff

RICHARD BATTISTA

MICHAEL PENNY
Union Gas

MARK KITCHEN

MARION REDFORD

PETER THOMPSON
Canadian Manufacturers & Exporters (CM&E)

ALICK RYDER
City of Kitchener

JAMES GRUENBAUER

DWAYNE QUINN
Federation of Rental-Housing Providers of Ontario (FRPO)

JOHN DeVELLIS
School Energy Coalition (SEC)

JAMES WIGHTMAN
Vulnerable Energy Consumers Coalition (VECC)

Robert RoWE
Enbridge Gas Distribution

PETER SCULLY
City of Timmins

IAN MONDROW
Industrial Gas Users Association (IGUA)

1--- On commencing at 9:28 a.m.


1Appearances


4UNION GAS LIMITED - PANEL 1



D. Ferguson, S. Poredos, C. Tuckwell, M. Packer


P. Gardiner, B. Rogers

4Questions by Mr. Thompson


8Questions by Mr. Ryder


12Questions by Mr. DeVellis


16Questions by Mr. Quinn


19Further Questions by Mr. Thompson


28Further Questions by Mr. Ryder


29Questions by Mr. Gruenbauer


35Further Questions by Mr. DeVellis


37Questions by Mr. Wightman


41Questions by Mr. Rowe


42Questions by Mr. Scully


43Further Questions by Mr. Quinn


53--- Recess taken at 11:13 a.m.


53--- On resuming at 11:33 a.m.


54Further Questions by Mr. Quinn


61Questions by Mr. Battista


66--- Whereupon the hearing adjourned              at 12:01 p.m.




NO EXHIBITS WERE FILED DURING THIS PROCEEDING

Error! No table of figures entries found.NO EXHIBITS WERE FILED IN T
HIS PROCEEDING
NO UNDERTAKINGS WERE FILED DURING THIS PROCEEDING

23UNDERTAKING NO. J1.1:  To provide answer as to whether actual presentation for the 2004 calculation included actual UFG or formula UFG.


39UNDERTAKING NO. J1.2:  PROVIDE AN ESTIMATE OF WHAT YOU COULD DO IN 2008 BEFORE THE 2008 FORECAST


50UNDERTAKING NO. J1.3:  TO PROVIDE THE COMPONENTS OF O&M THAT ARE DRIVING THAT INCREASE IN COSTS ON LINE 7 AT EXHIBIT B, TAB 3, SCHEDULE 2, ATTACHMENT 2


58UNDERTAKING no. J1.4:  TO PROVIDE IMPACT OF 2009 ACTUALS


60UNDERTAKING NO. J1.5:  To provide 2009 figures for attachment 3, tab 3 for long-term storage services.


63UNDERTAKING no. J1.6:  TO RECONSIDER THE CALCULATION IN B, TAB 1, SCHEDULE 1, WHETHER THE ACCRUAL WAS PROPERMS.




NO


Monday, May 25th, 2009


--- On commencing at 9:28 a.m.


MS. CAMPBELL:  Good morning, everyone.


Welcome to the technical conference in EB-2009-0101, another exciting Board application.  Today, what we are going to do is we are going to start, first of all, with some questions surrounding a different proceeding, EB-2009-0052.


Everyone in this room should have received a Procedural Order No. 2, which was issued May 21st, 2009, and that order -- that procedural order said that:

"Parties will have the opportunity to ask questions relating to the storage revenue issue as the first agenda item at the EB-2009-0101 technical conference held Monday, May 25th, 2009."


So I suggest that in accordance with the order, we start off with any intervenors who wish to ask questions of the panel, but, before doing so, I would ask for appearances from everyone in the room, starting with you, Mr. Penny.

Appearances:


MR. PENNY:  Thank you, Ms. Campbell.  I will introduce the witnesses in a moment, but my name is Michael Penny, and I'm counsel for Union Gas.


MR. THOMPSON:  My name is Peter Thompson.  I'm counsel for Canadian Manufacturers and Exporters.


MR. RYDER:  Alick Ryder for the City of Kitchener, and Mr. Gruenbauer is with me.


MR. GRUENBAUER:  Yes.  And Mr. Quinn, on behalf of FRPO, is on his way and asked me to register an appearance for him.


MR. DeVELLIS:  Good morning.  John DeVellis with the School Energy Coalition.


MR. WIGHTMAN:  James Wightman for the Vulnerable Energy Consumers Coalition.


MR. ROWE:  Robert Rowe for Enbridge Gas Distribution.


MR. SCULLY:  Peter Scully for the City of Timmins.  We are sort of a late intervenor here, so I apologize for not putting you on notice before.  I applied to the Board, and apparently my e-mail didn't get through.


MR. MONDROW:  Good morning.  Ian Mondrow for the Industrial Gas Users Association.


MS. CAMPBELL:  And I'm Donna Campbell for the Board, and I'm accompanied by Vince Cooney and Richard Battista for Board Staff.  And, Mr. Penny, if you would like to introduce the --


MR. PENNY:  Sure.


MR. PENNY:  Let me say by way of introduction that this is more to, I guess, the ESM aspect of it, but there was last Thursday, on May 21st, interrogatory responses filed.  So we're in the second half of this.  We're here to answer follow-up questions on those interrogatory responses.


There was, on Friday, May 22nd, an evidence update that related to the forecasts, and there are some schedules that were related to that.


And, today, Mr. Aiken pointed out that there was inadvertently left out some attachment to their Interrogatory No. 3 and we've come with -- we've sent out electronically the attachment that was inadvertently left off and have hard copies here, as well.


So if anybody doesn't have any of those things, we have copies for them.


We've got six witnesses here today to speak to the ESM aspect, and two of those witnesses will be speaking to the deferral account issue, which I gather we're going to deal with first.


But let me just introduce everyone, and then I will identify who the responsible people are for the deferral account piece.  I've got on my left Chris Tuckwell, who is with the finance group.  He'll be dealing with 2008 actual results.


Next, sitting next to him, is Mr. Packer, also with the finance group.  He'll be dealing with the 2009/2010 forecast and certain aspects of earnings sharing, such as interest, taxes, the storage premium adjustment and the calculation of return.


Sitting first on the row going down the window side, there is Dave Ferguson, who is with the finance group.  He'll be speaking to 2008 actual storage and transportation costs and adjustments to earnings sharing.


Sitting next to him, Mr. Poredos with the capacity management group.  His area is storage and transportation revenues, both actual and forecast.


Sitting next to him is Mr. Gardiner, who is with the general service forecasting group.  His area of responsibility today will be in the general service market, variances to actuals in 2008 and in the 2009/2010 forecast.


And Mr. Rogers, sitting at the end, is head of strategic markets, and he will be speaking to in-franchise contracting, again, 2008 variance to actual, and 2009/2010 forecast.


With respect to the first piece - that is, the deferral account piece - the responsible individuals will be Mr. Poredos and Mr. Ferguson, who are sitting in the middle of the group.


So with that, why don't we carry on?
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MS. CAMPBELL:  Thank you for the introduction.  I would ask -- I think we should go intervenor by intervenor concerning the first agenda item.  Does anybody wish to go first?  Mr. Thompson, I know I can rely on you.

Questions by Mr. Thompson:


MR. THOMPSON:  Yes, thanks.  This is with respect to the short-term storage numbers that you've clarified in the argument that was filed on the 22nd of May in the deferral account case.


To just help me with this, I would ask you, if you would, to turn up an interrogatory response that you provided in the deferral account case.  It's Exhibit B2.1, attachment 1.


MR. PENNY; Attachment 1, did you say?


MR. THOMPSON:  Yes.  In our submissions on behalf of CME, we did refer to these numbers that were, as we understood them, recorded in the financial statements for Union Gas Limited for the year ending December 31, 2008.


And at line 6, we understand that there was an accrual for ratepayer deferral - this is short-term storage and other balancing services - in the financial statements of $606,000.


Just stopping there, have we got that straight?  Was there that accrual in the financial statements?


MR. FERGUSON:  Yes.


MR. THOMPSON:  All right.  The actual amount that is being cleared to ratepayers under your proposal is a debit amount, is that correct, for short term?


MR. FERGUSON:  That is correct.


MR. THOMPSON:  Just what is that debit amount, please?


MR. FERGUSON:  The debit balance in the short-term storage and other balancing services deferral account is 0.36 million.


MR. THOMPSON:  So $360,000?


MR. FERGUSON:  Yes.


MR. THOMPSON:  All right.  Now, down in the note in this exhibit, it says:

"The above accounting accruals for ratepayer deferral were estimated at the time of the year end accounting cutoff."


Could you just clarify, estimated by whom; and, secondly, when was the year end accounting cutoff?


MR. FERGUSON:  The year end accounting cutoff is December 31st, 2008.  At the time of closing the books, we make an estimate, and then --


MR. THOMPSON:  Just let me interrupt you.  I know the accounting date for the presentation is December 31, 2008, but the books were actually closed when?  When was this estimate done?


MR. FERGUSON:  The books were closed on business day 3 of January.  I don't have a calendar in front of me.


MR. THOMPSON:  Early January, okay.


Who made the estimate that appears in the financial statements?


MR. FERGUSON:  My team.


MR. THOMPSON:  So the auditors just accepted that?


MR. FERGUSON:  That's correct.


MR. THOMPSON:  All right.  And could you explain, then, the -- how it went from an estimated credit of $606,000 to a debit of $360,000 for clearing purposes?


MR. FERGUSON:  It's a matter of timing.  The deferral calculation estimate would have been prepared on the first or second day of the close prior to all numbers being finalized.


MR. THOMPSON:  Well, what numbers materially changed from estimate to actual to have a swing of almost a million dollars?


MR. FERGUSON:  I don't have that information.


MR. THOMPSON:  Can you help us with any of its causes?


MR. FERGUSON:  I don't have that information.


MR. THOMPSON:  All right.  Let's go to the long-term peak storage amount, and here again in the financials, I'm looking at Exhibit B2.1, attachment 1, at line 12.


MR. PENNY:  This is the same attachment?


MR. THOMPSON:  Yes, and we had mentioned this in our submissions.  There, the estimated accrual for ratepayer deferral was a credit balance of $32,037,000 --


MR. FERGUSON:  That's correct.


MR. THOMPSON:  -- that's reported in the financial statements.  And the credit that the company is proposing to clear is less than that.  Can you just give us the amount?


MR. FERGUSON:  The credit balance of the long-term peak storage deferral account is $28,461,000.


MR. THOMPSON:  So that's a difference of roughly three-and-a-half million dollars lower?


MR. FERGUSON:  That's correct.


MR. THOMPSON:  Now, can you help us with understanding why the estimate credit balance that's reflected in the financial statements reduced by three-and-a-half million dollars?


MR. FERGUSON:  It's a matter of timing when the estimate was prepared.


MR. THOMPSON:  That doesn't really help me with the causes of it.  You estimated something on January; correct?  And then you trued it up later.


MR. FERGUSON:  At the time we were preparing the estimate on the -- day one of the month end, not all the numbers would have been finalized, the numbers that make up the components of the calculation.


MR. THOMPSON:  So can you explain why the estimate would be so far off?  Three-and-a-half million on 32 million is a 10 percent error.


MR. FERGUSON:  I think given the timing, that the number was a reasonable estimate.


MR. THOMPSON:  Can you help us with any elements of what was estimated too high or too low?


MR. FERGUSON:  I don't have that information.


MR. THOMPSON:  Okay.  Well, those are my questions.  Thanks very much.


MS. CAMPBELL:  Sorry.


MR. PENNY:  Who’s next?


MR. RYDER:  Well. I have some questions, if it's my turn.


MR. PENNY:  Go for it.

Questions by Mr. Ryder:


MR. RYDER:  Dealing with the short term deferral account, from my understanding that's an account, a hybrid account containing some regulated costs and some unregulated costs.  Am I right on that?


MR. POREDOS:  Mr. Ryder, are you asking about what services are within that?


MR. RYDER:  No, I’m just saying that it’s a hybrid account, and some of the costs have been -- are subject to regulation and some are not.


MR. POREDOS:  All short-term storage would be unregulated.


MR. RYDER:  Yes, and some of the costs that are used to generate the revenues are regulated costs.


MR. PENNY:  Can you be more specific?


MR. RYDER:  Well, the demand costs that are referred to at paragraph 16 of your reply argument, contrasted with the asset costs that are also explained in your argument.


MR. POREDOS:  I'm not sure where the regulated costs come into play, Mr. Ryder, because storage is all unregulated.  The only place that you would have regulated costs would be the 92 pJs that was allocated in franchise for storage, and that would be embedded in in-franchise rates.


MR. RYDER:  Well, really what we're looking for is something that reconciles the stages, the numbers for the stages that this account has gone through since the base rates were established.


MR. POREDOS:  In terms of what?


MR. RYDER:  First of all, you took into account the imputed revenue, right, that's one stage.


MR. POREDOS:  That's correct, that’s the $12 million we have in paragraph 16.


MR. RYDER:  Then you took into account the additional costs associated with the added 6 pJs.


MR. POREDOS:  Which was in an unregulated account already, yes.


MR. RYDER:  All right.  So what I'm looking for is a document that takes us through the stages and reconciles the final results with the original base rate situation.


MR. POREDOS:  I think the company component to look at is actually in the ESM hearing, the supplementary information that we provided to FRPO, I think it was FRPO No. 2.  That document actually walks through the account and what's in the account both for short term and long term.


In terms of the volumetric pieces, of the total storage that Union operates, the physical storage Union operates, 92 pJs was allocated to in-franchise customers as of 2007 rates, and that was the same number for 2008.  The remainder of the -- all the storage is then considered to be competitive storage, ex-franchise storage which Union then sells to customer, ex-franchise at market-based rates.


In terms of the 6 pJs that you had mentioned, what happened was -- is that in the original forecast, only two pJs of ex-franchise storage is forecast as revenue in the short-term account.  On an actual basis, we in fact sold 8 pJs of storage which then required a transfer of the cost for that 6 pJs from long-term storage which is competitive or in the competitive market to be transferred into short-term storage, and that's what's happened in the account.


MR. GRUENBAUER:  Mr. Poredos, one question I'm a little confused on is -- and, again, this is a result of your reply argument that was filed -- at paragraph 25, basically, where you take issue with our argument that -- what is not true about we had stated in argument about costs of these temporarily surplus utility assets, the 8 pJs are already included in rates and recovered from in-franchise customers.  That's what we're trying to clarify, how we were -- we came to that conclusion.


Further on in that paragraph, you said:

"Said another way, Union's 2007 in-franchise delivery rates included an allocation of costs for 92 pJs of storage, not costs in respect of the 8 pJs of storage space that was surplus to Union's immediate in-franchise needs."


And that 8 pJs, I take it, is dealt with in an unregulated fashion that you just explained?


MR. POREDOS:  Exactly.  The 92 was allocated in-franchise as regulated storage.  All other storage is unregulated or ex-franchise.


MS. CAMPBELL:  Mr. Gruenbauer, just before you proceed, I have a request that you slow down.


MR. GRUENBAUER:  Oh, sorry.


MS. CAMPBELL:  Please.  Thank you.


MR. GRUENBAUER:  My apologies.  The follow-up question from the last sentence in paragraph 25 of your reply argument, Mr. Poredos, is if none that have 8 pJs of storage had been sold for short-term balancing and short-term peak storage, whatever, does that mean that Union would have eaten the costs that were associated with that 8 petaJoules?


It wouldn't have been recovered, at all, because only 92 was included in in-franchise rates and the eight that is surplus, if there's no revenue associated with that, the fixed costs that would be associated with that would go right to your bottom line.  Is that the logical conclusion?


MR. POREDOS:  My understanding, that short term -- the short-term account is actually shared between customers and the shareholder, so if we were below the amount that's embedded in rates, we would actually share those costs.


MR. GRUENBAUER:  Thank you.


MS. CAMPBELL:  Mr. DeVellis?

Questions by Mr. DeVellis:


MR. DeVELLIS:
Thank you.  I think this is related to the storage issue.  It's Exhibit B, tab 3, schedule 2.


MR. POREDOS:  Sorry, could you repeat that, please?


MR. DeVELLIS:
Exhibit B, tab 3, schedule 2, but that's in the earnings sharing evidence, document 1 and 2.


MR. POREDOS:  Same one, yes.


MR. DeVELLIS:  Document 1, attachment 2.


MR. FERGUSON:  Okay.


MR. DeVELLIS:  And you may have answered this already, but I wonder if you can walk us through the various increases in O&M for the short-term and long-term storage services?  That's document 1 in that attachment 2, if you have that.


Demand O&M and commodity O&M increase in 2007 to 2008 for both short-term and long-term storage services.


MR. POREDOS:  Those increases are activity-related.


MR. DeVELLIS:
Okay.  Can you expand on that?


MR. FERGUSON:  We had more short-term and more long-term revenue.  As a result of having higher revenue, the higher activity level drove more cost.


MR. DeVELLIS:  Okay.  For example, long-term storage services, you have about $6 million in O&M in 2007, and about 9.8 million in 2008, so about $4 million.


So what would that -- when you say "activity-related", what do you mean?


MR. POREDOS:  Most of that activity would be in the incremental sales of injection withdrawals.  There would be other storage which we would lease from third parties and sell that.  That activity, for compressor fuel and so forth, would be included in that.


MR. DeVELLIS:  What are the costs?  Was it incremental personnel costs?  Is it --


MR. FERGUSON:  I don't have the details on that.


MR. DeVELLIS:  Has there been a change in the allocation of costs from 2007 to 2008?


MR. FERGUSON:  The 2008 numbers are based on actual costs.


MR. DeVELLIS:  Okay.  I guess what I'm getting at is with respect to the long-term storage.  There was a certain allocation that is allocated to in-franchise to ratepayers as a result of the NGEIR decision, and I forgot what the percentages were, but it was a decreasing percentage.


Do you recall that?


MR. POREDOS:  In terms of the sharing mechanism?


MR. DeVELLIS:  Right.


MR. POREDOS:  Yes.


MR. DeVELLIS:  So how does that translate into the amount that's allocated to ratepayers over the years, because the amount in 2008 is less than the amount in 2007 in terms of the ratepayers' share?


MR. FERGUSON:  The sharing of revenues with ratepayers has no bearing on the cost allocations or the cost actuals.


MR. DeVELLIS:  But aren't the costs allocated in a percentage basis as between the company and the ratepayers?


MR. FERGUSON:  They are allocated on the basis of utility and non-utility.


MR. DeVELLIS:
That's what I'm asking, because the utility and non-utility proportions have changed as a result of NGEIR.


MR. POREDOS:  Well, they are based on the cost study that was approved by the Board, as we had 2007 rates established, and the cost study has been -- that's what we use.


MR. DeVELLIS:  No, I understand that, but the cost study was prior to the NGEIR decision, wasn't it?


MR. POREDOS:  But it would be for 2007 rates and 2008 rates.


MR. DeVELLIS:
Okay.  And would it take into consideration the decreasing allocation from the NGEIR decision?


MR. POREDOS:  The only thing that is decreasing is the proportion that is shared with customers in the long-term storage account.  So that would happen after you allocate cost based on the cost study, and then you share what's left, the premium, basically, 75/25 in 2008, 50/50 in 2009, and then -- well, first, 75/25 in favour of customers, 50/50 in 2009, and then 75/25 in favour of shareholder in '10.


The cost study does not have an allocation percentage.  That allocation is done after the fact, after the costs are put to the revenues.


MR. DeVELLIS:  So it is the net revenues that are --


MR. POREDOS:  The net revenues are shared, yes, that's correct.  Thank you for those words.


MR. DeVELLIS:
Thank you.


MS. CAMPBELL:  Mr. Macintosh?


MR. WIGHTMAN:  Mr. Wightman.


MS. CAMPBELL:  Mr. Wightman, I'm sorry.


MR. WIGHTMAN:  He's my brother.


MS. CAMPBELL:  He's your brother?  Well, unfortunately, that's outside of the realm of questions that you're allowed to ask today.


MR. WIGHTMAN:  No, nothing on the storage.


MS. CAMPBELL:  All right, thank you.  Mr. Rowe?


MR. ROWE:  No, nothing.


MS. CAMPBELL:  Mr. Scully?


MR. SCULLY:  No questions, thank you.


MS. CAMPBELL:  Mr. Quinn?

Questions by Mr. Quinn:


MR. QUINN:  Yes, thank you.  I was trying to follow Mr. Gruenbauer's line of questioning, and I thought I had it right up until the end.


If I started at the very simplest level, what are the costs for this 6 pJs that was shifted to short term?  Where do the costs reside at the start of the year?


MR. POREDOS:  The six pJs of cost that was shifted from long-term storage, which is a competitive storage or ex-franchise, was shifted from the long-term account to the short-term account, because only two pJs of ex-franchise storage was forecast to be in the short-term account originally.


On an actual basis, we actually sold eight.  That is why we had to shift 6 pJs of cost from the long-term account into the short-term account.


MR. QUINN:  So as he finished up, he asked a question:  To the extent that you did not sell that storage, if it finished the year unutilized, for whatever reason, would you shift the cost into short-term storage if there were no revenues to go with it?


MR. POREDOS:  The costs would already -- well, let me put it this way.  There's a certain imbedded rate in rates that we have to attain prior to any sharing with customers.  If we don't attain that level in the short-term account, be it because the storage hasn't been sold or storage values are really low, the difference between the imbedded rate and what we have in that account would be shared with customers.


We would recover that amount, as in fact is the case in the short-term account.  There is a $360,000 debit.


MR. QUINN:  I guess what I'm trying to understand is if at the start of the year the storage and its costs are residing in long-term storage, and there is no action or activity to warrant moving those costs, would they not stay in the long-term storage account?


MR. POREDOS:  When the Board reserved the 100 pJs for in-franchise, Union would take the difference of whatever is allocated in in-franchise at 100 pJs and sell it as short term.  If selling that did not attain the level of revenues or margin that's embedded in rates, then we would share with customers on both positive and negative.


MR. QUINN:  Well, what I'm trying to understand, Mr. Poredos, is why would you put it long term then if in any event your intent would be to have the cost borne in the short-term storage deferral account?  Why would it start the year in long-term storage?


MR. POREDOS:  When the 2007 rates were set and we forecast, as we had historically for years, we had always forecast 2 pJs of short-term storage in the ex-franchise market, those numbers were embedded in rates and we are just going back to the 2007 rates.  There’s been no changes to those numbers since those numbers have been approved, so we’re comparing everything back to the approved numbers.


MR. QUINN:  So as we move forward, that would continue to be the case.  So if we were to look at the costs that are embedded in rates for 2009, there is only 2 pJs of short-term storage being covered by the rates that Union has established for 2009.


MR. POREDOS:  Comparing to 2007 Board-approved rates; that's correct.


MR. QUINN:  I guess the lack of clarity I'm having here may just be because I'm not seeing the numbers, but if this is the way Union had done it in 2007, where would the costs for that 6 pJs, where would we find that in Union's rate-making?


MR. POREDOS:  The original cost of the 6 pJs would have been included in the long-term account which would have been part of the revenues that are embedded in long term to set up the Board-approved deferrals, right, in 2007 which is prior to the NGEIR decision.  So the way it was forecast historically is the way it is imbedded in rates, and that's 2007 going forward until that is changed, we will be comparing to those Board-approved rates.


MR. QUINN:  So we should see a significant reduction in what's in your cost for long-term storage as a result of this significant shift from long term to short term.


MR. POREDOS:  You should see a cost shift.  I can’t say it’s significant because it is at the cost-based rate, so to speak, that is the cost of that storage.


MR. QUINN:  I think I'll defer further questions then until I can get better clarity than what I’m getting to, but I appreciate that clarification from long term to short term.  Thank you.


MS. CAMPBELL:  Are there any other questions on the storage revenue issue?  It appears not.  So we will move from the storage revenue issue to the questions related to the earnings sharing and incentive regulation review, the ESM matter, primarily EB-2009-0101.


Shall we follow the same order, Mr. Thompson?

Further Questions by Mr. Thompson:


MR. THOMPSON:  For the purposes of my questions, I’ll just move one pile out of the way here and get the second pile in.  I would ask you to have in front of you Exhibit A, appendix B, schedule 1 of the prefiled evidence, page 1 of 1 entitled, "Earnings sharing calculation."  And if you just have beside it Exhibit – this is the Interrogatory Response Exhibit B, tab 2, schedule 1, attachment 1.  Attachment 1, and this is a modified earnings sharing calculation as per CME question 1.


Does the panel have that, witness panel have that?


Now, in the official filing, there are adjustments, and column C is adjustments at lines 1, 3, 5, 6 and 8.  Now in terms of these adjustments, are they adjustments from the as-reported financial statements of the company?


MR. FERGUSON:  Yes.


MR. THOMPSON:  Now, the first one is entitled "Accounting adjustment" and then the second one at line 3 is the shared savings mechanism.  Adjustment line 5 is unaccounted-for gas normalization adjustment.  And then at line 6, O&M expenses, there’s a couple of adjustments, one for donations and one for EB-2008-0304 costs.   And then at line 8, there's a customer deposit interest adjustment.  Am I correct?


MR. FERGUSON:  Yes.


MR. THOMPSON:  Now, in prior presentations by Union of its actual utility income, is the panel familiar with those?


MR. PENNY:  Why do you mean by "prior"?


MR. THOMPSON:  Done for prior years in prior cases.


We've had earnings sharing I think for some time, and we've seen in utility filing presentations the actual utility numbers as well as normalized utility numbers.


MR. PENNY:  We had a differently structured earnings sharing under the PBR case and then a different earnings sharing during some interim periods in which there were no cost-of-service filings, then we've yet a different earnings sharing mechanism agreed to between the parties and approved by the Board for this IRM.


So implicit in your question was these were all the same, but they are different.


MR. THOMPSON:  I wasn't intending to convey that.  What I was trying to get at was the filings that the company provided of actual results in those prior cases.  Is the panel familiar with those filings?  For example, actual 2007 results or 2006 or 2005 or 2004?


MR. PACKER:  I think we have varied experience with the earnings sharing in prior years, Mr. Thompson.  Why don't you try your question and we'll see if there is anybody available that can answer it.


MR. THOMPSON:  Let's just take the first adjustment, the accounting adjustment.  Can you just explain what that is for?


MR. FERGUSON:  Yes.  This is a one-time accounting accrual adjustment related to the unbilled calculation.


MR. THOMPSON:  Now, do you know if, in prior years, that was an item of adjustment for the purposes of presenting actual utility income?


MR. FERGUSON:  I don't know the answer to that.


MR. THOMPSON:  Could we have an undertaking on that, Mr. Penny?


MR. KITCHEN:  Mr. Thompson, this would have been the first time the unbilled accrual would have appeared in the earnings calculation.


MR. KITCHEN:  This would have been the first time that the unbilled accrual appeared.  It was an adjustment that was made -- it was an adjustment that was made in 2008 for -- to correct revenue essentially from as far back as 2006, so it would not be in the other earnings sharing calculations.


MR. THOMPSON:  Or in the actual utility presentations in prior cases?  It's something new for this case; do I understand that correctly?


MR. KITCHEN:  The accrual was made in 2008, so it is part of the 2008 reported earnings.


MR. THOMPSON:  All right, thank you.  Now, the next one is for shared savings mechanism.  Could you just describe that briefly, what that is all about?


MR. FERGUSON:  Yes.  It was acknowledged in the settlement agreement at section 10.1 that the shared savings mechanism was not to be included in the earnings sharing calculation.


MR. THOMPSON:  So that is the revenue attributable to shared savings?


MR. FERGUSON:  That's correct.


MR. THOMPSON:  Before 2008.  Now, the third one at line 5 is cost of gas, and this is some sort of normalization adjustment; am I right?


MR. FERGUSON:  That's correct.


MR. THOMPSON:  Now -- and the actual unaccounted-for -- sorry, if these utility numbers reflected actual unaccounted-for gas use in 2008, that number would be zero in that column?


MR. FERGUSON:  The adjustment would have been zero.


MR. THOMPSON:  Now, in prior presentations of actual results, prior presentations of actual results before the Board, can you tell me if this type of adjustment was reflected in the numbers or not reflected in the numbers?


MR. FERGUSON:  I don't have the background to answer that.


MR. THOMPSON:  Could we have an undertaking on that, please?


MR. BATTISTA:  That will be undertaking --


MR. KITCHEN:  Hang on.


MR. PENNY:  Well, we're just trying to figure out if we can deal with it now.


MR. KITCHEN:  The unbilled adjustment would not have been part of prior earnings sharing calculations, because, again, as Mr. Penny said, that was under a different earnings sharing mechanism than we currently have.


This earnings sharing mechanism recognizes that the only revenues and costs that should be included in the calculation are those consistent with a cost-of-service proceeding.


MR. THOMPSON:  I appreciate that answer, but my question was:  In the actual -- the presentations of actual amounts in prior years, am I correct that unaccounted-for is shown as actual, not the adjusted amount that you've shown here?


So for 2004, for example, if we look at the actual utility income, we see unaccounted-for at its actual level.  Do we understand that correctly?


MR. PENNY:  We're pretty sure that we know what the answer is, but why don't we make sure?  So we'll give the undertaking to check 2004 as an example to determine whether the actual presentation for the 2004 calculation included any -- included actual UFG or formula UFG.


MR. THOMPSON:  Thank you.


MR. BATTISTA:  That will be undertaking J1.1.

UNDERTAKING NO. J1.1:  To provide answer as to whether actual presentation for the 2004 calculation included actual UFG or formula UFG.


MR. THOMPSON:  Then just finally, the last two adjustments, one is the operating and maintenance expenses, adjustments for donations and EB-2008-0304 costs.  What is EB-2008-0304 costs?  What do they relate to?  What's that case all about?


MR. PACKER:  That was the restructuring procedure that we went through earlier this year.


MR. PENNY:  The point being was that we undertook, and I think the Board directed, that those costs would not be borne in any way or come into the calculation of earnings sharings --


MR. PENNY:  I'm sorry.  I'll speak up.  I was just making the point that those -- there was, I think, an agreement by Union and I think a direction by the Board that those costs should not be part of any earnings sharing.  That was at the request of the intervenors.


MR. THOMPSON:  Thank you.  Now, the donations in prior presentations of actual utility income for Union, are the donations adjusted out?  Can you tell us the answer to that?


MR. PACKER:  Mr. Thompson, I'm struggling a bit with your characterization or your question around "in prior presentations".  When we file a cost-of-service proceeding, the evidence that underpins that proceeding would have had this as a non-utility adjustment.


MR. THOMPSON:  Well, when you file a cost-of-service proceeding, you have a historic year actual presentation?


MR. PACKER:  Typically, we do.


MR. THOMPSON:  I guess my question is:  In those historic year actual presentations, are donations excluded by way of an adjustment?


MR. PACKER:  In the historic year, I think they are.  I can take that subject to check.


MR. THOMPSON:  Well, let's leave it subject to check, and, if it needs to be revised, you can do that in response to the same undertaking number.  Would that be satisfactory?


MR. PENNY:  We'll take it as, yes, it is taken out, but if we, upon checking it, find that it's different, we'll let you know.


MR. THOMPSON:  All right.  Now, if we could just then move to the CME question, this is Exhibit B, tab 2, schedule 1, and what we asked you to do was to recalculate earnings sharings on the assumption that the only appropriate adjustment is this SSM adjustment.


Is that the way you understood the question?


MR. PACKER:  Yes, it is.


MR. THOMPSON:  Now -- and so if we just walk through this quickly, if we can, we see that at line 11 the earning before interest and taxes increases from about 309,849,000 to 329,138,000; is that right?


MR. PACKER:  That's correct.


MR. THOMPSON:  And there is a comparable increase in utility income before income taxes, at line 15, from 163 million to 498 -- sorry, 163,498,000 to 182,787,000; is that right?


MR. PACKER:  That's correct.


MR. THOMPSON:  When we work it through at line 22, the earnings subject to sharing increases to -- increases from 150,501,000 to 163,328,000; is that right?


MR. PACKER:  That is correct.


MR. THOMPSON:  Then the second part of the question we asked was to assume that the sharing specified in the settlement agreement up to the "off ramp" number of 300 basis point is as per the agreement.  Do I understand correctly that the first 200 basis point is a dead band?  That all goes to the company; is that right?


MR. PACKER:  That's how we interpreted your question, yes.


MR. THOMPSON:  So the benchmark return at line 25 is 10.81 percent, which is 200 basis points above the 8.81 percent you've calculated in your evidence; right?


MR. PACKER:  Correct.


MR. THOMPSON:  Then we said:  Share the -- 50/50 for the next 100 basis points at line 26 between ratepayers and shareholders equally, but then everything over and above that goes to the ratepayers and so that means that line 27 ratepayers would get 174 basis points; right?


MR. PACKER:  That is correct, yes.


MR. THOMPSON:  The bottom line is if we take that approach, the pre-tax earnings sharing at line 28 increases from 15,203,000, that's the ratepayers sharing, to the 40,632,000 shows on this Exhibit B, tab 2, schedule 1, at line 31.  That's the math?


MR. PACKER:  That is correct.  That is the math that correlates to the set of assumptions that the question asked us to reflect.


MR. THOMPSON:  Now, my last question just relates to the initial filing, Exhibit A -- next page -- Exhibit A, appendix B, schedule 2, page 1.  This is entitled, "Off-ramp calculation."  We also asked you to do the off-ramp calculation as part of our CME question 1, so you’ll see Exhibit B, tab 2, schedule 1, attachment 2 is the modified off-ramp calculation as per CME question 1.

Now, what is the purpose of this off-ramp calculation in the initial filing?  Is it really for illustrative purposes?


MR. PENNY:  I'm not sure what you mean by that, Mr. Thompson.  The settlement agreement said if the 300 basis points was exceeded, that Union would file material explaining that, and that's what we did.


MR. THOMPSON:  All right.  Thank you.  In terms of the difference between –- in calculation between initially filed Exhibit A, appendix B, schedule 1 and schedule 2, am I right that the difference is there's a normalization for weather in the off-ramp calculation but there is no normalization for weather in the earnings sharing calculation?


MR. PACKER:  Yes, you are correct.


MR. THOMPSON:  So under our assumptions, if you normalize for weather, the off-ramp calculation increases

-- again, under our set of assumptions, from about 5.401 million, the off-ramp calculation increases to $24,694,000; do we understand that correctly?


MR. PENNY:  That's under an assumption that's contrary to what was agreed in the settlement agreement.


MR. THOMPSON:  Well, I don't accept that.  But that's

Mr. Penny.  He's smart.


MS. CAMPBELL:  I think you are both equally smart.


MR. THOMPSON:  Thank you.  Those are my questions.  Mr. Ryder, Mr. Gruenbauer.

Further Questions by Mr. Ryder:


MR. RYDER:  I have a question for clarification.  Can I ask you to look at B4, schedule 7 which is selected data for 10 years beginning at 2001.  Just to be clear, the rates for years 2004 and 2007 were determined by cost of service; is that right?


MR. PACKER:  That's correct.


MR. RYDER:  And all the other years, the rates were or are to be determined by incentive regulation.


MR. PACKER:  Depends on what your definition of incentive regulation is.  2001 through 2003 was our trial PBR period.  We had a cost-of-service proceeding in 2004, and we stayed out of -- or our proposal was to not have rates reset under cost of service and there wasn't a formal incentive regulation structure in place for five and six.


MR. RYDER:  Mr. Packer, just remind me, but isn't the way the company defines risk as the risk of not meeting your allowed -- making your allowed return?


MR. PENNY:  You'll to have more specific in terms of risk.  There are many aspects of risk the company deals with.


MR. RYDER:  Well, I know that, but in terms of your earnings, isn't the risk you that face that was described

-- I think has been described by Union witnesses to the Board as being the risk of not reaching your allowed return?


MR. PACKER:  Again, in order for me to be helpful, I think you'll have to be more specific.


MR. RYDER:  Well, I don't think I can be but that's all.  I'm going to rely on that definition from now on so I'll bring evidence, I guess.


MR. PENNY:  That's fine.  We don't accept that assumption.  Why don't you put your question.


MR. RYDER:  That is my question.  It hasn't been answered, but that's fine, Mr. Penny.

Mr. Gruenbauer has some questions.

Questions by Mr. Gruenbauer:


MR. GRUENBAUER:  And I promise I'll go slow.

If I can ask you to turn up your response to second interrogatory, which was Exhibit B, tab 4, schedule 2.  If I could also ask you to turn up your application, Exhibit A, maybe table 1 at page 4 of 29 would be a good spot.

What we had asked in Exhibit B, tab 4 was for Union to prepare a schedule that classified the main drivers of Union's total revenue sufficiency in 2008 as due to variances from 2007 base rate assumptions and variances from the components of the IRM formula and the response which you've given is essentially it’s not possible to identify what the variances are that relate to base rate assumptions or components of the IR formula.


And what I'm exploring here is the thrust of your application later on insofar as 2009 and 2010 are concerned is essentially you don't need to fix what isn't broken.  The IRM formula that has been established for Union is working and will continue to work.  That's what I'm trying to explore here with this interrogatory and a little bit of probing.


The proposition is if it weren’t, if the formula were in some way broken and it could be broken in either direction, you could under earn or over earn, there would be things that would contribute to that and at a high level, that's why I asked the question.  It struck me that there's two reasons:  Either the base rates were set incorrectly or the matrix of the formula don't do what they were intended or perhaps both those things.

So that's the context for people.   Is everybody comfortable with that?


MR. PACKER:  I don't think I would agree that those are the only two options.  I think I understand the background you've provided.


MR. GRUENBAUER:  Actually, thank you, Mr. Packer.  That was going to be a follow-up question, if something was missing. So I'll let you expand on that after I just try and get some idea of why it may or may not be possible to identify these variances.


So if I go to table 1 in Exhibit A at page 4, what I'm looking at is the increases and decreases in column C, and then you have got line items, various line items, for gas distribution margin at 3, and then transportation and other revenue, and so on and so forth.


What I was trying to do with the tab 4 interrogatory was, if we were just to look at line 3, gas distribution margin, the $24.2 million, as a variance for the 2008 versus the board-approved 2007, if we can just start there.


Would you agree with me that the components -- the drivers of that 24.2 million, some of those could be attributed to changes from the base rate assumptions and some could be due to a factor in the formula, for example, the average use factor.


If there's a variance in the actual results, that would show up in that $24.2 million; is that fair?


MR. PACKER:  Maybe I should elaborate on why I said earlier that I thought those were two possible explanations, but there are others.


The -- because the most obvious other explanation is the incentive regulation framework is working exactly the way it should, and it's encouraging us to drive out efficiency improvements and that's what you see showing up in our actuals.


I guess another possible explanation is market circumstances are different in 2008 than previous assumptions.  There are many reasons why our revenues and costs vary from the 2007 Board-approved levels, and those are explanations we've tried to provide starting on page 5.


So, again, the paragraph starts off, we've got a $24.2 million variance.  9.9 million is general service.  9.7 is related to decreases in other items, and then it goes through in detail and tries to provide an explanation of why the variance exists.


MR. GRUENBAUER:  Thank you for that, Mr. Packer.  Maybe we could drop to line 6 at expenses.  Is that an area where differences in the X factor, the productivity, would be most noticeable?  To the extent you said earlier that the formula is working, you are driving out efficiencies, that relates to the X factor, so --


MR. PACKER:  No, we were --


MR. GRUENBAUER:  -- you would expect that to show up there?


MR. PACKER:  That's one area it could show up.  Our evidence in the incentive regulation proceeding, it was very clear that we viewed revenue increases as much of a productivity or efficiency improvement as cost reductions.


MR. GRUENBAUER:  So improvements or -- meaning the approved X factor could show up in the gas distribution margin, as well?


MR. PACKER:  It's one way of driving out productivity improvements.


MR. GRUENBAUER:  Essentially there, you stand by the response.  There is really no way of even giving some idea as to what is this -- driving this variance.  Your evidence is basically you've explained the factors sort of line by line in the application that follows?


MR. PACKER:  Again, I don't want to quibble with words, but I think we've provided an explanation of the reasons why there are differences.  They don't necessarily line up with the two categories you wanted us to try to put them in, and I stand by the answer that we -- we can't do that, but I think we have provided explanations of why there are variances.


MR. GRUENBAUER:  Thank you.  I'll move onto - let's see - yes, the response to our Interrogatory No. 6 at Exhibit B, tab 4, schedule 6.


MR. PACKER:  That was question 6?


MR. GRUENBAUER:  Yes.


MR. PACKER:  That's mine, as well.


MR. GRUENBAUER:  Okay.  It's a good answer, but it didn't really answer the question that I asked, which is really contained in the last three lines of the question.  And maybe I'll just ask you, Mr. Packer, to the extent that you can, to explain why UFG was not identified by Union as a cost that perhaps warranted similar treatment to average use under the incentive regulation mechanism at the time the mechanism was being developed.


MR. PACKER:  Again, I thought we were responsive to the question.  What we are trying to convey in the response is the focus of our evidence and the focus of the settlement conference was on trying to get to a point where everyone could agree to a pricing formula.


So it was really as a result of those discussions and that being the objective that the AU factor was introduced.  Unaccounted-for gas is just an entirely different issue.  It wasn't an explicit component of the pricing formula; therefore, it wasn't the focus of the proceeding.


MR. GRUENBAUER:  Just bear with me for a minute, please.  Maybe I'll -- I'm sure Mr. Penny will stop me if I'm being unfair here.


MR. PENNY:  Surely you wouldn't be unfair, Mr. Gruenbauer.


MR. GRUENBAUER:  Thank you.  How about a "what if" proposition, Mr. Packer?  In hindsight, if we could turn the clock back 18 months or two years, is this something that perhaps would have been better for all parties if it had been brought forward and dealt with in a similar fashion to the average use factor, given the material nature of the adjustment in the first year of the five-year plan?


MR. PENNY:  I think it's a matter of argument, but Mr. Packer can answer your question, if he wants.


MR. PACKER:  I guess I'm not sure why you would ask the question you've asked.  We believe in our submission that we've reflected unaccounted-for gas in a way that is consistent with the settlement agreement.


The other aspect, I guess, that's different between how UFG and average use factor is being treated -- or average use is being treated is there is a deferral mechanism around it.  And, you know, I can't speculate, I guess, on what we would have done a year-and-a-half ago if circumstances were different at the time, in terms of people's attention being on unaccounted-for gas.


MR. PENNY:  I think I would just add that our point is that that mechanism was well established and well in place.  It had been operating for a number of years.  Everyone knew that.


MR. GRUENBAUER:  Thank you.  Those are my questions.


MS. CAMPBELL:  Mr. DeVellis.

Further Questions by Mr. DeVellis:


MR. DeVELLIS:  Thanks.  My question is in relation to the unaccounted-for gas issue.  I apologize, I should have done this in the form of a written interrogatory.  I don't know if you'll be able to answer this today, but perhaps you can do it in the form of an undertaking.


And it has to do with the Board's decision in EB-2006-0501, which was a Hydro One Transmission decision from a couple years ago.  And there was an issue in that case about an earnings sharing -- it was earnings sharing, as well, and it was an issue because Hydro One had proposed to make certain adjustments to its audited income for the purpose of the earnings sharing mechanism.


And I'll give you the exact reference, and what I would like is Union Gas's view on whether or not or how that decision applies to this case.  And it's mainly for your benefit because I may want to rely on it in the hearing.  I just didn't want to spring it on you at the hearing.


What the Board decided – found -- and I’ll paraphrase, and you may have a different view of the Board's decision -was that in the prior period adjustments, the adjustments that Hydro One had proposed to make related to certain prior period income, I guess, that was realized during the year, had to do with a tax assessment and the Board found that income for the earnings sharing, the basis for the income for earnings sharing is the audited financial statement.  If the adjustments did not qualify as adjustments under GAAP, then they weren't appropriate to make adjustments for earnings sharing purposes.


That's at page 80 of the decision.  The discussion on that issue is from pages 77 to 81, and I guess what I'm asking is for Union Gas's view on whether or not or how that decision applies to your adjustments -- the adjustments you made for the unaccounted-for gas, and if – I can send you the decision, if you like, Mr. Penny.


MR. PENNY:  I do think, Mr. DeVellis, that the question of whether a prior precedent is governing in a different case is classically a question of argument.  I know that these witnesses aren't in a position to answer that question.


Thank you for that heads up.  We'll look at it, but I'm going to decline to give an undertaking to provide our view on whether that case is or isn’t applicable at this point in time.  If you want to rely on it in the hearing, then I’m sure it will come up.


MR. DeVELLIS:  Okay.  I understand it's of course a matter of argument, but factual underpinnings between the two cases obviously are a matter for the factual or evidentiary portion of the hearing, but you’re declining to answer.  That's fine.


MS. CAMPBELL:  Mr. Wightman.

Questions by Mr. Wightman:


MR. WIGHTMAN:  Thank you.   I just had a couple of questions.  The first one is Exhibit B, tab 7, schedule 3, part C.  This is VECC IR 3, part C.  It’s Exhibit B, tab 7, schedule 3, part C.


Union had mentioned in its evidence that absent the incentive regulation plan, that they would not have realized the revenues that they did defer the transportation account 17969, and we asked you what you think you would have realized or -- had you maintained those accounts, and the response is you can't tell; is that correct?  Is that fair?


MR. POREDOS:  That's correct.


MR. WIGHTMAN:  So then what you’re saying is you got more but you don’t know how much more in the transportation.


MR. POREDOS:  It’s more because of the IR decision, is that the question?


MR. WIGHTMAN:  We just want to know if we could get some quantum or idea by how much you think it improved your revenues.


MR. POREDOS:  The difficulty that Union has is that the circumstances under the negotiation, the IR, the positions, the negotiating positions that were taken, it could have been totally different.


For us now to separate out and suggest that we have one or the other is very difficult for us to do.  Having said that, any time there is incentive for greater returns, the shareholder would obviously try to go after those.  So from that standpoint, it's an outcome of the IR decision, fortunately.


MR. WIGHTMAN:  This goes back to something Mr. Packer said, I think, in response to question from Mr. Gruenbauer or Mr. Ryder about risk in that.  But you mentioned that one of the things that might have made your bottom line better in 2008 was that business conditions were better than usual I believe - I might be paraphrasing that - is that correct, that 2008 business conditions were better than you expected before the year?


MR. POREDOS:  It was I maybe in response to S&T revenues or are you asking about business conditions in general?


MR. WIGHTMAN:  I believe, as I followed it, that it was focusing on net income but take it down to S&T if you want.  I'm just saying:  Was 2008 better for your bottom line than you expected before 2008?


MR. POREDOS:  On a net income basis?


MR. WIGHTMAN:  Yes.


MR. PACKER:  I would say our results were better than we anticipated, yes.


MR. WIGHTMAN:  Now, I don't think that that is on the record and it's probably not available.  Did you have an estimate of what you could do in 2008 before 2008 forecast because --


MR. PACKER:  I thought we provided that during the IR proceeding.


MR. WIGHTMAN:  Could you tell me which one it is.  I've missed your 2008 forecast.


MR. PENNY:  Well, we'll undertake to identify the exhibit number and provide you with that from the incentive regulation proceeding.


MR. BATTISTA:  That will be undertaking J1.2.

UNDERTAKING NO. J1.2:  PROVIDE AN ESTIMATE OF WHAT YOU COULD DO IN 2008 BEFORE THE 2008 FORECAST


MR. WIGHTMAN:  Lastly, in your updated evidence of last week, I believe what you said is you are now projecting for 2009 an ROE of 10.37 percent at Exhibit A, appendix C, schedule 2, page 1, sorry.  Appendix C, schedule 2, page 1.


MR. PACKER:  I have it.


MR. WIGHTMAN:  10.37 is your new forecast for...


MR. PACKER:  2009.


MR. WIGHTMAN:  ROE.  In the supplemental evidence at schedule 9, you are saying that the 2009 ROE cost will be 8.47 percent?


MR. PACKER:  The ROE target or benchmark is 8.47, yes.
MR. WIGHTMAN:  Then that means your forecasting you are going to earn 190 basis points over the target; is that correct?


MR. PACKER:  That is correct.


MR. WIGHTMAN:  If I just take based on what you provided in this hearing, 330 basis -- or sorry, 360-some, I guess it is, you are going to be averaging close to 300 basis points over for the first two years if your forecast holds true; is that correct?  It will be over 260.


MR. PACKER:  I think your math is correct.


MR. WIGHTMAN:  I think that's all.  Thank you.


MS. CAMPBELL:  Mr. Rowe.


MR. PENNY:  If I can interject for a second.  We can provide the answer to J1.2 right now, so why don't we do that.


MR. PACKER:  The exhibit reference from the EB-2007-0606 proceeding where we identified our forecast was Exhibit C23.52.

Questions by Mr. Rowe:


MR. ROWE:  I’m looking at Exhibit A, appendix D, schedule 1, page 1 of 1, it’s the allocation of the earnings sharing through rate classes.


MS. CAMPBELL:  Could you say that again?


MR. ROWE:  Exhibit A, appendix D, schedule 1 page 1 of 1, it's the allocation of 2008 earnings sharing to rate classes.


MS. CAMPBELL:  Thank you.


MR. ROWE:  My question is:  Did Union --


MR. PACKER:  Just a minute.  I think I'm the person who will be answering the question, and I'm just looking for the exhibit.  I have it.


MR. ROWE:  I make the observation that all regulated -- all used and useful regulated assets make a regulated rate of return, but that some assets have more of an ability to generate additional revenues than others.


The Dawn-Trafalgar system, for instance, versus the residential main down the street in Chatham, there is a huge difference, and I'm just wondering if Union considered any other way of allocating the revenue sharing than what's here, the one that we see here.


MR. PACKER:  I can't answer whether we considered any other approaches, but I think this one was an obvious one to us, because we had used it before.  It was a Board-approved methodology.


And I'm not sure I would accept your description that a disproportionate amount of our earnings above the target would be attributed to the Dawn-Trafalgar system.


So, you know, without knowing exactly which facilities generated the excess earnings, we thought this was a fair approach to follow.


MR. ROWE:  Okay.  Thanks.


MS. CAMPBELL:  Mr. Scully.

Questions by Mr. Scully:


MR. SCULLY:  On that same schedule and the -- on the same schedule we were just looking at, and on the one following -- it's schedule 2.


Maybe the same sort of question.  Your allocation process ends up saying to a customer in my territory, the northern territory, You get an eight-buck credit, and if you are down in the southern region, it's four bucks.  And the disparity is larger for a rate 10 versus a rate M2.


I'm just wondering if Union -- I guess the answer is that's just what falls out from the numbers, but this is an earnings sharing and there's inequality here.


Is there any -- I'm just struck by the inequality.  Has Union thought about that?


MR. PACKER:  Again, I don't mean to be difficult, but I can't accept the characterization there is inequality here.  The rate structure that we operate under has different -- customers in different areas paying different rates, and that's a reflection of the cost to provide service to them.


The fact that we've picked the allocation of ROE as the allocator for the allocation of the excess earnings is a way of recognizing that everybody's rates differ in the first instance, and the allocation of ROE is how -- is very close to the allocation of rate base.


So this is a rough proxy of the allocation of the assets to customers that drove the rate they paid in the first place.


MR. SCULLY:  So you over earned in the north more than you did in the southern region?


MR. PACKER:  No, I don't think I said that.  I said we tried to come up with a fair allocator, one that reflected the quantum of the rates the customers paid throughout the year.


MR. SCULLY:  Okay.  I'm not sure I understand that, but thank you.


MS. CAMPBELL:  Anything else, Mr. Scully?


MR. SCULLY:  Those are all my questions.


MS. CAMPBELL:  Thank you.  Mr. Mondrow?


MR. MONDROW:  Thank you, Ms. Campbell.  No questions.


MS. CAMPBELL:  Mr. Quinn?

Further Questions by Mr. Quinn:


MR. QUINN:  Yes, thank you.  If I could have the panel turn up Exhibit B, tab 3, schedule 2, attachments 1 and 2?


MR. FERGUSON:  We have that.


MR. QUINN:  If we just stay with attachment 1, which is referring to short-term storage services, I would ask you to try to compare 2007 approved and 2008 actual.


Now, I have taken in some of your responses in terms of it's -- it's not directly comparable in some instances, but we still need to understand the drivers to understand what is being allocated and how, given this is an opportunity to get some clarity for what we do going forward.


So if we refer to schedule 2, attachment 1, I'm trying to understand how this concept of return increases several-fold for, again, the marginal increase in revenue.


Can you break it down for us in a way that is very simple to say:  How is return -- how was return calculated in 2007 in this schedule, and how is that different for 2008, and then what would create that significant difference in line 15?


MR. FERGUSON:  Subsequent to the 2007 Board-approved, there were additional rate base investments related to storage.


MR. QUINN:  If you could start, if you would, as how was 2007 calculated, in very simple terms, and is there any change for 2008?


MR. FERGUSON:  In terms of short-term storage service return, the difference between the return in the 2007 board-approved and the 2008 actual relates to the 6 pJ differential that Mr. Poredos spoke to earlier.


MR. QUINN:  So there's no change in the method of calculating that number?


MR. FERGUSON:  Instead of being based on two pJs, it's now based on 8 pJs.


MR. QUINN:  So it would tend to be a pro rata increase, then?


MR. FERGUSON:  Yes.


MR. QUINN:  Possibly because we are dealing with these numbers in macro, you would say that that would simply be four times the 258, which would be over 1,000, and there's 905 showing up here.


So, again, I'm going to ask you the question.  Is there a change in methodology, or is this simply a question of incremental storage being brought into this account?


MR. FERGUSON:  It's a question of incremental storage being brought into the account.


MR. QUINN:  So there is no change in methodology?


MR. FERGUSON:  That's correct.


MR. QUINN:  Okay.  If we could move to schedule 2, attachment 2, then?


I want to break down a few numbers on the schedule again for purposes of understanding moving forward.  In line 7, which is O&M, what components go into O&M for demand costs?


MR. FERGUSON:  In terms of 2008 actual, all O&M costs are reflected in that number.


MR. QUINN:  I'm sorry, maybe we should start more slowly.  What components go into O&M?


MR. PACKER:  Mr. Quinn, I can maybe try and be a little helpful given my previous experience with rates and cost allocation.  The O&M costs that get classified as demand related are the costs or all the storage-related O&M costs that we incur that are related to maintaining and operating our storage assets.


MR. QUINN:  So if we look at --


MR. PACKER:  Sorry, the ones that doesn't vary with activity.


MR. QUINN:  They don't vary with activity.


MR. PACKER:  Meaning injection and withdrawal activity.


MR. QUINN:  So what then would be the rationale for the O&M costs almost doubling when they don't vary with activity?


MR. PACKER:  What I'm trying to describe is these are costs that don't vary with the amount of gas we're injecting or withdrawing which would be more variable in nature.  To the extent we have higher storage revenues and higher storage –- the level of services we're providing,  there will be fixed costs -- will be costs of a fixed nature that will still be incurring and be associated with higher level of service that we're providing.


You see the fact that the storage revenues are double on lines 1 through 4, you would expect some increase in costs to accompany that increase in storage revenue.


MR. QUINN:  Intuitively, you would think that increased activity would potentially increase costs but I thought I understood your original answer to say these demand costs are those that don't increase with activity.


MR. PACKER:  I tried to clarify "activity" meaning injection and withdrawal.  If we sell more storage services, there are higher -- can be and appear to be higher fixed costs that accompany those at a higher level of service.  So if we sell services associated with, just for illustrative purposes, 10 pJs rather than 5, revenues, all other things being equal, will be higher and so should costs.


MR. QUINN:  Can you give me what would be the top three things of costs that would increase when you go from 5 to 10 in your example?


MR. PACKER:  It would be -- depends on where you got the incremental five from.  If it's existing storage, it would be costs associated with that existing storage.  If you are developing storage, it would be costs associated with the new storage.


MR. QUINN:  I guess what I'm looking for is the cost component.   Are you talking about salaries, are you talking about fuel?  What are you talking about that increases?


MR. PACKER:  These are O&M related items.  It would be O&M costs associated with -- fixed O&M costs associated with storage, provision of storage services.  Salaries would be one component -- maintenance costs would be another.


MR. QUINN:  I guess I'm still struggling with how those costs increase because you have more through-put.


MR. PACKER:  I think I may have misled you -- or not misled you, but the words I used may have left you with a misunderstanding.  What I'm trying to describe is not higher through-put but higher levels of service being provided.  So if we're providing more than forecast, you would expect us to be incurring costs associated with the provision of those services.  Some of those would be O&M in nature.


MR. QUINN:  So you sold more storage and therefore the salaries of those people selling go up according to that?  I need some more clarity in terms what drives the cost up based upon increased sales.


MR. PENNY:  I think Mr. Packer is trying to tell you that if we are doing four times as many deals, we need more people.


MR. QUINN:  So how many staff were added in this area?


MR. POREDOS:  Steve Poredos.  There were two staff added in late 2007.


MR. QUINN:  So if we get those off the table, that’s out of the increase of $3.7 million, we'll give them the 0.7, you’ve got $3 million of incremental cost.  I'm still at a loss as to why that cost goes up on the basis of demand costs for storage.  If you have to maintain a storage well, you've got cost that's essentially annualized.  That doesn't increase with through-put or a higher volume of activity.


MR. PENNY:  Again, as Mr. Packer was saying, it's not an issue of through-put.


MR. PACKER:  We don't have any more information with us.  I think if you have additional questions, we can try and answer them but we don't have any more information on the differences between the two O&M numbers.


MR. QUINN:  Well, I'll ask this question and consider if there is any value in an undertaking.  To the extent that these costs have increased, specifically in this case O&M, is it possible this was a reallocation of costs from some other category and brought into this long-term storage service deferral account?


MR. POREDOS:  You would be transferring the cost for the six pJs, that we transferred from long term to short term, that would be a transfer – oh, sorry, this one is long term.  I don't know of any that I would be transferring from any other category.


MR.QUINN:  If Mr. Packer could possibly tell me if there is the potential that this could be a transfer.


MR. PACKER:  There's been no change in the way we allocate costs.  This is -- this would not be a transfer from some other activity.  This is driven by the increase in the revenue.


MR. QUINN:  Can you break those components down that  -- O&M costs down into various components of salaries and other items to establish what the main drivers were to increase the costs to that level.


MR. PENNY:  I'm not sure at what level at granularity we are able to do that, but we can certainly take a stab at it.  Why don't we give you an undertaking to give you, at least at a high level, the components of O&M that are driving that increase in costs on line 7 at Exhibit B, tab 3, schedule 2, attachment 2.


MR. QUINN:  That would be appreciated.


MR. BATTISTA:  That will be Undertaking J1.3.

UNDERTAKING NO. J1.3:  TO PROVIDE THE COMPONENTS OF O&M THAT ARE DRIVING THAT INCREASE IN COSTS ON LINE 7 AT EXHIBIT B, TAB 3, SCHEDULE 2, ATTACHMENT 2


MR. QUINN:  Mr. Poredos started to touch on my next question, so if we jump down to line 10, we have return, which has gone notionally from an $8 million Board-approved down to zero.  Now first, can you tell me what methodology change resulted in the zero return on that line?


MR. FERGUSON:  I would refer you to Exhibit B, tab 3, schedule 2, attachment 3, where we better align the 2008 actuals with the 2007 Board-approved.


On line 10 of that schedule, you can see a better alignment of the return number.


MR. QUINN:  I won't take the panel's time in turning that up right now, but at a high level, what was the main reason it went to zero?


MR. FERGUSON:  Could you repeat your question?


MR. PENNY:  Sorry, Mr. Quinn, it's just the next page of the one you were just looking at, so it doesn't take any time at all to turn it up.


MR. QUINN:  Exhibit 3 -- sorry, I was trying to write it down as he went through it, but I didn't catch it all.


MR. PENNY:  D3, schedule 2, attachment 3.  It's just the next page from the page that you were just looking at.


MR. QUINN:  Okay.  Thank you, Mr. Penny.  I was not following his line, and I thought I would turn it up later.  But with your assistance, I can see --


MR. PENNY:  Mr. Ferguson was referring to line 10.


MR. QUINN:  Line 10.  In that -- well, that gets to the point I have.  What you've got here, if I go from attachment 2 to attachment 3, you've got the return for both costs and -- costs of demand and asset costs now aggregated; is that accurate?


MR. FERGUSON:  That is correct.


MR. QUINN:  Now, Mr. Poredos had mentioned the point off the top that we have taken -- well, I shouldn't say -- my understanding is that Union has taken 6 pJs out of the long-term storage account and moved it to the short-term account, which drove the cost increases in that area.


Can you help us with what you would attribute the increase in the return portion of long-term storage costs  -- what would be the main driver that increased that cost?


MR. FERGUSON:  The question is:  What drove the increase in the return?


MR. QUINN:  Yes, and recognizing that we have just take -- maybe I'll take it one step at a time.  It's accurate, then, 6 pJs left this account and went to short term; is that accurate?


MR. FERGUSON:  Six pJs that were in the 2007 Board-approved did indeed go to short term.


MR. QUINN:  Okay.  So that would end up being a net decrease in cost in this account?


MR. FERGUSON:  That is correct.


MR. QUINN:  Okay.  So now you have a significant increase in the return for these assets.  Now, can you tell me how that return was derived in a way that would substantiate that increase?


MR. FERGUSON:  The return is a result -- the increase in return is a result of additional investments in new storage capacity.


MR. QUINN:  What would the quantum of that investment be?


MR. PACKER:  I don't believe we have exact numbers, but ballpark $100 million.


MS. CAMPBELL:  Before we go any further, the reporter has requested a brief recess.  So if we could take 15 minutes right now, and then we can come back and finish with you, Mr. Quinn.


MR. PENNY:  Sorry, let's finish this issue.  I'm not sure we are finished this issue.


MS. CAMPBELL:  All right, fine.


MR. PENNY:  So if you don't mind, why don't we just close this off, and then take a break?


MS. CAMPBELL:  Certainly.


MR. PENNY:  Did you have anything further on this particular issue, Mr. Quinn, or is that it?


MR. QUINN:  No, I have some more, and I thought this was an appropriate time to take that break.


MR. PENNY:  All I'm saying is that if you've got something on this, let's finish it, and then you can move  -- take the break and you can move on.  I just wanted to make sure we hadn't left something hanging here.


MR. QUINN:  I wanted to examine the costs in the other categories of O&M, UFG and compressor fuel, so that would take a little bit of time, Ms. Campbell.


MR. PENNY:  Fine.  If we're done with the return, that's fine.  Let's take the break.


MR. QUINN:  We will come back to any clarifications I further need in this area.  Thank you.


--- Recess taken at 11:13 a.m.


--- On resuming at 11:33 a.m.


MS. CAMPBELL:  We're now ready to proceed.  Mr. Quinn, if you would like to start your questioning.


MR. PENNY:  Just before we carry on with the questions, it came to our attention over the break that there is a clerical error in Schedule B3, schedule 2, attachment 2, at lines 13 to 17.  And that is repeated on the next page at attachment 3 because it's the same numbers that are repeated.  Mr. Ferguson is going to walk through the correct numbers.  The total doesn't change, but the numbers within that total are not correct, as a result of, as I said was a clerical error.  What we'll do is file a corrected version of it this afternoon, but Mr. Ferguson is in a position to correct those numbers now.


MR. FERGUSON:  I'm going to give the correction in terms of Exhibit B, tab 3, schedule 2, attachment 3.


At line 14, O&M, the corrected numbers should be negative 955 as opposed to negative 7,784.


At line 15, UFG, the corrected number should be negative 4,177 as opposed to negative 431.


Line 16, compressor fuel, the corrected number should be negative 3,437 as opposed to 354.


There is no change to line 17.


The total commodity for 2007 Board-approved remains 955 negative.


MR. PENNY:  Am I correct that those same corrections would be made to Exhibit B, tab 3, schedule 2, attachment 2, to lines 14 to 17?


MR. FERGUSON:  That is correct.  That's all.


MR. PENNY:  That's all we have by way of preliminary.


MS. CAMPBELL:  Thank you.  Mr. Quinn.

Further Questions by Mr. Quinn:


MR. QUINN:  That certainly is going to reduce my questions, but I need to make sure I get clarity on that O&M impact.  I heard 995 for line 14.


MR. FERGUSON:  That is correct, 955 negative for line 14.


MR. QUINN:  955.


MR. FERGUSON:  That's correct.


MR. QUINN:  So that would be the same on attachment 2.


MR. FERGUSON:  That's correct.


MR. QUINN:  Okay.  I certainly look forward to the revised schedules, and I think that that will reduce those questions in that area, but I need to go back to the return question because I'm still trying to do my math in the prior time before the break, and I thought maybe as opposed to me doing the math, maybe you can do it for me.


Simply put then, if we look at those two lines of return in line 10 going between 2007 Board-approved and 2008 actual, can you break that down, the 14 million number, and show a schedule that would show what was incremental investment and at what rate, and what was increase utilization or whatever allocation that would, you know, have the number go to 14 million including showing the net of the 6 million pJs or 6 pJs that went to short term.  So in other words you've got a number of 8155 for the Board-approved number – sorry, I'm on the wrong schedule, that was attachment 3.  On attachment 2, it was 248, now you've got 14,348.  Can you show us in a schedule how you break that down?


MR. FERGUSON:  I don't have those numbers.


MR. QUINN:  Would you be able to take an undertaking to provide that?


MR. KITCHEN:  Mr. Quinn, you’re looking at attachment 2.   The schedule you really should be looking at is attachment 3 when you’re comparing the return.  The 248, if you look at the Board-approved column on attachment 2, you can see return appears under the demand cost portion.  We've aligned those under schedule 3 so the difference is not between the 248 and 14,348 it’s between 8,155 and 14,348 which really reflects the increase in investment that was -- that Union entered into as a result of the NGEIR decision.


MR. QUINN:  Given your guidance, I will look at attachment 3, but I’ll ask the same question.  Can you break that down showing the 6 pJs moved into short-term account and then the net impact of investment and net factors that increase the number up to 14 million?


MR. KITCHEN:  I'm not sure that we can, Mr. Quinn.


MR. QUINN:  Somebody calculated that number.  You are asking us to trust in its calculation.  I would think breaking it down a little bit would help us all.


MR. KITCHEN:  I'm not sure we can break it down in the way that you’ve asked it to be broken down.  We don't actually calculate return based on individual assets, we calculate return based on old assets versus new assets.  We have an integrated storage facility and we calculate the total cost for 2008, and that's the total return component.  I'm not sure we can actually break it down in the way that you've asked for it to be broken down.  In fact, I don't think we can.


MR. QUINN:  If you start with 2007 actual and its calculation and compared to 2008 -– or 2007 Board-approved, my mistake, and then compare 2008 actual, you are telling me you can't compare the two?


MR. KITCHEN:  We can compare the two in total but I'm not sure we can compare the two in the same way that you've asked us to.


MR. QUINN:  I would like to see you give it a good try, if you would, and if it helpful to our understanding, it will help us to understand what is the impact going to be for 2009 and beyond.


MR. KITCHEN:  I’m not sure I’m prepared to accept an undertaking we can’t provide an answer to.


MR. PENNY:  As I understand the problem, it's that we're not -- that return is not calculated on an asset- specific basis.  It's calculated on the total net revenue cost of the operation of the storage system.  So -- and what Mr. Kitchen is –- you’re, Mr. Quinn, as I understand it asked to have that -- to have the incremental investment broken down as to what -- how it contributed to the return, and I think Mr. Kitchen is saying it can't be done.


MR. KITCHEN:  What we might be able to provide you some more detail on the calculation of return in total, but I'm not sure you'll get the level of detail that you are looking for.


MR. THOMPSON:  Well do that, for starters.


MR. QUINN:  At that level, then, would you be able to project for 2009 what we can anticipate?


MR. KITCHEN:  We'll see what we can do, Mr. Quinn.


MR. PENNY:  Why don't we leave it on the basis that we'll, accepting the qualifications we've given, we'll do what we can.


MR. QUINN:  I would like that included though for the undertaking record is -- I'm trying to understand what the impact will be for 2009 because that's --


MR. PENNY:  Well, again, we'll consider that.  If it's doable at some level we'll try and do that; if not, obviously we won't.


MR. BATTISTA:  I take it you are agreeing to the undertaking with those caveats?


MR. PENNY:  Yes.


MR. BATTISTA:  That will be Undertaking J1.4.

UNDERTAKING no. J1.4:  TO PROVIDE IMPACT OF 2009 ACTUALS


MR. QUINN:  If you could just turn up the next tab 3, schedule 3, I guess the line of my questions in interrogatory and at the end of this last set of questions, I'm trying to understand the impact for 2009, 2010.


Union has represented that there is going to be over into the order of 190 basis points for 2009 in the updated evidence, and I'm trying to understand what the impact of these storage deferral accounts are going to have in creating that 190 basis points.


Can you provide some level of forecast demonstrating what these schedules would look like for 2009 and potentially 2010?  But I would be satisfied with 2009, so we would have something to discuss on Wednesday and Thursday.


MR. PACKER:  The storage deferrals or the unregulated earnings are not subject to the regulated earnings sharing calculation, so there's no relationship between the two things you are trying to understand.


MR. QUINN:  Well, I would still like to understand what we can anticipate for 2009.  To the extent you can present a schedule that shows us what we can anticipate in these accounts in 2009, we might get past this issue of not being able to compare them to 2007 Board-approved.


MR. PENNY:  I think you've heard our answer, Mr. Quinn.  We take the view that it's not relevant to an earnings sharing calculation, deferred.


MR. QUINN:  Well, it may not be relevant to the earnings sharing mechanism, but it's relevant to how costs are being accounted for by the utility moving forward, and we have deferral accounts and we have earnings sharing mechanism.  These two separate proceedings have been intermingled, to some extent, because of concurrent time frames.


And I'm suggesting that projecting 2009 would go a long way to helping us all understand what we're signing up to.  So to the extent you don't believe it's relevant to earnings sharing mechanism, that can be your position.


I received an e-mail from Board Staff saying we were finished discussion in this area, but I had wanted to go through a line of questions to help us understand first, and then ask for this undertaking again, so I guess I'm going to ask for it.


Union can refuse it, I guess, but clearly there has to be some level of discovery for us to understand the impact on deferral account dispositions, also.


So I ask one more time, and you can tell me whether you can answer the question or not.


MR. PENNY:  I don't think I was taking the position that just because you weren't here when we were talking about deferrals you couldn't ask the question.  I think what I'm saying, if you've got a question that's relevant, then ask it, and, if it's about the deferrals, we'll take it, because we're still here.


But I had understood from the answer that your question was not relevant to either issue.  But if you want to restate the question, we'll see.


MR. QUINN:  I've been directed to look at attachment 3 as opposed to attachment 2, so I would be satisfied in taking the schedule created in attachment 3 for long-term storage services and extending that schedule for 2009, to the extent that you can forecast that; similarly, schedule 2, attachment 1, because that was the question I guess I asked in the interrogatory response -- or in the interrogatory.


And I believe that there is an ability to forecast these costs.  Obviously, when you move -- you know, you've moved that 6 pJs, you would expect that that would stay where it is, and so we should be able to see better year-over-year appreciation for what 2009 is going to look like.


MR. PENNY:  It sounds like, without prejudice to our position as to relevance, we can probably produce something for 2009, so we will do that.


MR. QUINN:  Thank you very much.  Those are my questions.


MR. BATTISTA:  That will be undertaking J1.5.

UNDERTAKING NO. J1.5:  To provide 2009 figures for attachment 3, tab 3 for long-term storage services.


MS. CAMPBELL:  So you are finished, Mr. Quinn?


MR. QUINN:  Yes, I am.  Thank you.


MS. CAMPBELL:  See, I told you we could do it before noon.


We've got one question, I believe, from Mr. Battista on behalf of Board Staff.

Questions by Mr. Battista:


MR. BATTISTA:  And this is just to get clarification stemming from the response to Board Staff IR schedule 1.  So this is Exhibit B, tab 1, schedule 1; Exhibit B, tab 1, schedule 1.  The other exhibit is Exhibit A, appendix A, schedule 3, page 1 of 1.


In the interrogatory, tab 1, schedule 1, I had asked what the cost of gas component was of the increase in the revenues between 2007 and 2008 actual.  And in the response, note is made that there is three -- there is an adjustment that should be considered in the 24 million of $3.6 million due to the accrual credit.


So in the response, you'll see it there as an entry, and since everything has that up to 24 million, I guess the balancing number is the cost of gas decrease.


But if I look at Exhibit A, appendix A, schedule 3, and if you look at column K, there's an adjustment made for -- the way it appears to me, there is an adjustment made in line 1 for the accrual.  So I thought the accrual impact, the normalizing, let's say, of 2008, already happens to come up with your updated adjusted numbers, and then these are compared to your 2007 approved.  So, therefore, the accrual wouldn't be a reason for the -- part of the 24 million.  It's off the page already.


I was wondering if I was missing something in your answer.


MR. FERGUSON:  Mr. Battista, if you refer to Exhibit A, page 5 of the evidence, lines 2 through 5 of that page.


MR. BATTISTA:  Right.


MR. FERGUSON:  Infer that the cost of gas decrease would have been 4.6 million, if you take the 24.2.


MR. BATTISTA:  Yes, meaning just subtract out?


MR. FERGUSON:  Right.


MR. BATTISTA:  That was the way I read the evidence.


MR. FERGUSON:  Right.


MR. BATTISTA:  And I wasn't clear, because it just said other, so I just needed that confirmation back, and then when your interrogatory came back, you threw in the accrual and it didn't seem to me that that was relevant, because you had already made an adjustment to your 2008 actuals for the accrual, and then you had that new number that you compared 2007 against to come to the 24 million.


MR. FERGUSON:  I think we explained the variance in terms of –-


MR. BATTISTA:  If you would like to take an undertaking, that would be fine.


MR. PENNY:  Would you prefer to do it that way?


MR. FERGUSON:  Yes.


MR. PENNY:  It's really -- you are really asking us whether –- to reconsider the calculation in B, tab 1, schedule 1, whether the accrual was proper.


MR. BATTISTA:  Right.  And the information you provided in the interrogatory answer.


MR. PENNY:  We'll reconsider that and provide an explanation.


MR. BATTISTA:  So that will be undertaking J1.5.


MR. PENNY:  Six, I think.


MR. BATTISTA:  Six.

UNDERTAKING no. J1.6:  TO RECONSIDER THE CALCULATION IN B, TAB 1, SCHEDULE 1, WHETHER THE ACCRUAL WAS PROPERMS.


MS. CAMPBELL:  Mr. DeVellis is signaling with his finger.


MR. DeVELLIS:  I had a follow-up question if that was okay.  Can we return Exhibit B, tab 3, schedule 2, attachment 3, line 10.  It has to do with the return amount.  And I think you said the increase over 2007 Board-approved is 6.2 million, and I think you said earlier that that is primarily attributable to increased storage investment; is that right?


MR. FERGUSON:  That's correct.


MR. DeVELLIS:  And I think you said a hundred million dollars?


MR. PACKER:  I gave an answer of approximately a hundred million dollars.


MR. DeVELLIS:  This is all for ex-franchise storage?


MR. POREDOS:  Yes, that's correct.


MR. DeVELLIS:  As a result of NGEIR, none of this will be regulated, so none of this will be shared with ratepayers eventually after the next -- the phase-in period is completed, phase-out period.


MR. POREDOS:  That's correct.  After the sharing mechanism phased-out, then 100 percent of the long-term storage will be to the shareholder.


MR. DEVELLIS:  So are there revenues from that hundred million dollars, we see the cost are in this deferral account in the form of increased storage and – increased return, I assume other areas as well.  Are there revenues from that increased storage in this account as well?


MR. POREDOS:  Yes, they are.


MR. DeVELLIS:  Now is the storage, are these depreciable assets.  Do they have a useful life?


MR. POREDOS:  The capital investment, yes.


MR. DeVELLIS:  Do you know what that is for the incremental investment we're talking about?


MR. FERGUSON:  I don't have the -- I don't have that information.


MR. DeVELLIS:  I’ll tell you why I'm asking these questions.


MR. FERGUSON:  Sorry, if you refer to the annual report, sorry I don't have the reference to that -- if you refer -- tab 1, schedule 6, page 41.  Our property plant and equipment depreciation policies are outlined, including the policy for storage.


MR. DeVELLIS:  Which tab, one?


MR. PENNY:  It's an answer to Board Staff Interrogatory No. 6, I believe.  Mr. Ferguson is referring to page 41.


MR. DeVELLIS:  And you have storage there of 23 to 45 years; is that...


MR. FERGUSON:  That's correct.


MR. DeVELLIS:  So that's just like a range, in general, what the useful life of storage facility...


MR. FERGUSON:  That's correct.


MR. DeVELLIS:  You don't have an answer for me with respect to the specific investment that we were just talking about.


MR. FERGUSON:  No, I don't.


MR. DeVELLIS:  Now, I don't know if this is what Mr. Quinn was asking, but is it possible for you to give us a breakdown of the incremental cost for the incremental storage in terms of the O&M return including depreciation and capital costs?  The reason I’m asking this is sometimes we see with incremental capital additions that in the first couple of years, the cost to the ratepayers is greater than the revenue but over the long run, we expect it would be positive.  In this case, this particular asset, the ratepayers won't be sharing in the revenues after the first couple of years so I just have a question as to whether it's appropriate for ratepayers to be sharing cost in the first few years.


MR. FERGUSON:  Is the question around depreciation?


MR. DeVELLIS:  Well, it’s total capital cost of the incremental investment including depreciation and the return.


MR. FERGUSON:  The depreciation would be shown at line 8 of schedule 2, attachment 3, tab 3.


MR. DeVELLIS:  That's total depreciation including the additional.


MR. FERGUSON:  Investment.


MR. POREDOS:  The one thing I would remind everyone is that the investment was made and there is no risk to customers.  They are sharing on the margin which they have taken no risk on at all.  So it's a bit of an issue.


MR. DeVELLIS:  I'll leave it for now.  Thanks.


MS. CAMPBELL:  Does anybody else have any other follow-up questions?  Then it looks like the Technical Conference is now ended.  Thank you very much.


--- Whereupon the hearing adjourned at 12:01 p.m.
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